Answer any 5 questions from 1 to 6. Each carries 1 score. (5x1=5)

Sociology deals with the study of modern, complex societies whereas deals

with the study of simple societies.

Identify the sociologist who remarked that in post independent India joint family has

steadily increased.

(a) M.N. Srinivas g (b) A.R. Desal
(¢) G.S. Ghurye (d) A.M. Shah
The application of one’s own cultural values in evaluating the beha' - - znd beliefs of

people from other culture is called

Name the author of the book “The Golden Bough” from the list given below :

(a) Malinowski () M.N. Srinivas

{¢) S.C.Dube (dy James Frazer

The underlying assumptions of capitalism are given below. Fill the blanks

Capitalism

l

Expansion of Division of Rising
trade labour ceesereneesesnnnee || Produenvity |
According to A.R. Desai Welfare State involves type of economy.
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Answer any 4 questions from 7 to 11 in 2 or 3 sentences each. Each carries
2 scores. (4x2=8)

7. An interview is basically a guided conversation between the researcher and the
respondent. Complete the chart showing the two types of interview,

Interview

8. Define gated communities.
9. Distinguish between conflict and cooperation.

10. State the comment of Herbert Risley and others about the original aborizinal
inhabitants of India.

11.  There are three basic forms of advantage which privileged groups may enjoy. Fill the
blanks.

Advantages of Privileged groups

Life Chances | | __________ \ | .......... ’

Answer any 4 questions from 12 to 16 in 4 or 5 sentences each. Each carries
3 scores. dx3=12)

12. List out any three features of caste as mentioned by G.S. Ghurve.

13.  “Sociology and Economics are very closely related subjects.” Substantiate.
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14, Arrange the following groups into the appropriate column in the table given below.

(People gathered in a stadium, sports starts, plus one students, adolescents, people in a
cinema hall, film stars)

Peer Group | Reference Group | Quasi Grou
| p

| |
_

15. *An example of cultural change leading to social change can be seen in the evolution of

ideas about the place of women in society.” Prove with an example.

16.  The table shows average child sex-ratio for India and selected states 25 recorded in the
census of 1991 to 2001,

No. of girls per 1000 boys in the age group 0 — 6 }'ears_l!
1991 2001
India 945 | 927
Punjab 875 793 :
Haryana : 879 820 !
' Delhi 915 865
Gujarat 928 878

Himachal Pradesh | 951 897

(a) Which state has the lowest sex-ratio ?

{b) Analyse the trend shown in the table.

Answer any 4 questions from 17 to 21 in 4 or 5 sentences each. Each carries 4 scores.

(4 x4=16)

I7. Your class is divided into two groups, one representing functionalist theorists and the
other group conflict theorists to discuss about the topic *social control’. Construct two
points representing each views.

18. (a) Do you believe that Indian families are gendered ?

(b}  Substantiate your answer.
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19. ‘Environment problems are ultimately social problems also’. Substantiate with suitable

examples.

20. Arrange the following items in the columns representing the dimensions of culture :

Performing rituals at death, internet chatting, identifying ring
tone of cell phone, using rice flour to make kolam, recognizing
the cartoon of politician, not opening other people’s letters.

Cognitive Culture

Normative Culture

Material Culture

21. Distinguish between mechanical and organic solidarity.

Answer any 1 question from 22 to 23. Carries 5 scores.

22. (a)

How will you conduct participant observation for a sociological research ?

(b) Mention any three limitations of participant observation.

23. Rearrange columns B and C so as to match with column A :

A B C
M.N. Srinivas | ‘Man in India’ Indian culture and society are
not individualistic
S5.C. Roy Social background of Trdia, | Welfare state
nationalism '
G.S. Ghurye Religion and society among the | Doctoral degree from Oxford
Coorgs of South India
D.P. Mukherji | Can be consider founder of | Oraon, Mandas, Kharias
Institutionalised Sociology in India
A.R. Desai Sruti, Smruthi, Anubhava Debate with Verrier Elwin
FME-38 8
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24,

25.

26.

217.

28,

20

30.

Answer any 3 questions from 24 to 27 in 1% pages each. Each carries 6 scores.

(3x6=18)
“Inequalities exist in the society’.
(a) Do you agree with the statement ? (1)
(b) Explain the inequalities in the society. d (5)
Describe different forms of Marriage.
Describe different types of environmental pollutiaﬁ affecting man's existence.
(a) Explain the meanings of Bureaucracy. (2)
(b) Briefly explain five characteristic features of Bureaucracy. “

Answer any 2 questions from 28 to 30 in 2 pages each. Each carries 8 scores,
(2x8=16)

Describe and compare caste and class as means of social stratification in our society.

(a) Define Socialisation. (2)
(b) Evaluate the role of different agencies of socialization. - (0)

Describe the factors responsible for the emergence of sociology.
(Hints : The Enlightenment. The French Revolution, The Industrial Revolution)
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